
Welcome to Online IDE!! Happy Coding :) 

Original population: 

[Nice, 942208] 

[Abu Dhabi, 1482816] 

[Naples, 2186852] 

[Vatican City, 572] 

 

Processing population for: Nice(942208) 

Processing the small portion: 8 

This is large portion: 942200 

Small portion is less than or equal marker(12) for rounding 

Population: (rounded down) 942208=> 942200 (to nearest 25) 

 

Processing population for: Abu Dhabi(1482816) 

Processing the small portion: 16 

This is large portion: 1482800 

Small portion is larger than or equal marker(13) for rounding 

Population: (rounded up) 1482816=> 1482825 (to nearest 25) 

 

Processing population for: Naples(2186852) 

Processing the small portion: 2 

This is large portion: 2186850 

Small portion is less than or equal marker(12) for rounding 

Population: (rounded down) 2186852=> 2186850 (to nearest 25) 

 

Processing population for: Vatican City(572) 

Processing the small portion: 22 

This is large portion: 550 



Small portion is larger than or equal marker(13) for rounding 

Population: (rounded up) 572=> 575 (to nearest 25) 

 

Population rounded to nearest 25 

[Nice, 942200] 

[Abu Dhabi, 1482825] 

[Naples, 2186850] 

[Vatican City, 575] 

[London, ] 

[Birmingham, ] 

 

 

** Process exited - Return Code: 0 ** 


